EARAZROREIERT — 2 N—XBISY —F 2016578108 (H) 5MEEF2H

m21“°/lil'f/\‘d'%"3ﬁ8 1 Y5% 3% (w8 | 1mEmml - |5 5 oom
[AE£] 1% :320,000 ™ ~ 2#%:64,000H”  337%&:32,000H”  43%&:23,000H” 53 :9,000H
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
NN AR 140, - . — REILET] (B%ME
1155 TA—ILRA 4 3 50 1(45))6 1-1 38.9 1 :,861) E?EF?,‘,;_J&
L:FLI IR BHISTrIF =g &
7 x 4 3 | BBl 1:40.7 2-2 38.8| — 3 454 | NEEETE (B%FE)
2 6 JALTT—X 56.0 (1/2) 1) |EER
QXL v/ xbwx BTY—A~TF EEpeties
S B 3 | AtHE 1:41.0 5-2 8.2 — 6 507 | #EEZ (8%E)
3 2 T ITILKR 54.0 (11/2) -7) IAKE
LT RN=—HrhU— BT7TO-XTTT— U5 &
— 5 4 3 | SRBE 1:41.3 7-6 37.9| — 7 414 | BREESAE (B%FE)
s 4| TLT1TT> 56.0 f 3a) ay | Nk
R:7Rv4 vV —-> BTN ITLI— #Xett RUMI Z77—4
S # 3 | RES 1:41.4 6-7 3.1 — 5 460 | FREHIER (EERE)
5011 [F7¥74— 5.0 (172) (1) | WARE
R:TJ7—3IUT7> BixXA4ay 7L Niitie]
N =y HER 142, - . — #EE (KiR)
6 NESZISDEY it 3 5 1 (472)5 4-4 39.9 4 (4_057) JEES
L:T77NT5T B:oa-F0714 2K ExicEe )
N LIAEAEE . _ — HIEERI (AGR)
707l 7|®1TxLTLY - AN 1(74%;:? Z 105 ? (4_7; »&z;;ﬂm
L:ZATATv— B:TLAU—-XE=7 AEXERE
® I —F—EBIERL
13—7+—
20—F—
Jol=5r= 5,06,7),3,2,1,4
40—+ — 5,(2,6),(3,7),4,1
[ N3
BB 5 1004 714K 5-6 170H B = 5-6 200M 3EHE 2-5-6 820M
8 B 5 1004 2= 240M B H 5-6 260M K31 5-6-2 1,130H
6 1704 2-6 650M

ABICOVWTRDTEEERROODE. TR LIV,



